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The figures in the margin indicate
full marks for the questions.

1. Fill in the blanks : 1x7=7
(a) Multiple sequence alignment is an
extension of alignment.

(b) FASTA format is also termed as
format.

() Exon contains a part of the that
codes for a specific sequence.
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(@)
(e)

0

(9)

DDBJ is maintained by

is a database for domains and
protein families.

The fundamental statistical indicators
are

Standard deviation is the square root
of

2. Answer the following questions : (any four)

(@)

(b)
(c)

(d)

(e)
1j]
(9)
(h)

2x4=8

State the differences between global and
local alignment.

List any two protein databases.

Write the salient features of Genetic
Code.

What is the difference between
structural and functional genomics ?

What are primary databases ?
What is e-value of alignment scores ?

What is biostatistics ?
What is standard error ?
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3. Answer the following questions : (any three)
Sx3=15

(a) Comapre PAM and BLOSUM matrices.

(b) What do you mean by secondary
database ? What are the major
secondary databases ?

(c) Illustrate global alignment with suitable
example.

(d) What is PIR ? Describe various
resources and databases of PIR.

(e) Define Chi-square test for goodness-of-
fit. Mention the criteria for which Chi-
square goodness-of-fit test is
appropriate.

4. Answer the following : (any three)
10x3=30

(a) What is bioinformatics ? What are the
branches, scope and aim of
bioinformatics ?

(b) Classify biological databases based on
data type, maintainer status, data
access, data source, database design
and organism. Explain with proper

examples.
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() What is Entrez ? Systematically
represent the architechture of Entrez
system, briefly explaining each of them.

(d) What is t-test ? How does one-sample
t-test differ from two-sample t-test ?

(¢e) The following table shows the
distribution of the number of hours
worked each month (on average) for a
sample of 500 community college

students.

Hours worked per month

Number of students

20-30
30-40
40-50
50-60
60-70
70-80
80-90
90 -100

30
58
62
85
112
70
57
26

Find out the standard deviation.
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Answer the Questlons from any one Optlon.
OPTION-A
Paper : ZOO-HE-5026
DSE (H)- 2
(Animal Biotechnology )
Full- Marks 60

- Time : Three hours

. The ﬁgures in the margin indicate
full marks for the questions

1. Fill'in the blanks : L ‘ 1><7-7

~

(a) Taq polymerase was 1solated from
' - bacterium,

(b) — was the first egmmercially'
available - genetically  engineered
product. o - -
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(o) Causat1ve orgamsm for crown gall
dlsease is

- (d) The msert capa01ty of YAC is

(e) For activation of type-1I RE,
- is/are needed.’

) In 'productiori of Bt 'cotten; the Bt gene
is derived from .
"(g)' Fbllovvipg DNA. deuble ‘strand ‘break,
- the DNA repair mechanism is initiated
by | |
2. Answer the followmg questmns in brlef

| . , 2x4=8
- (a) Write the prmmple of Western blottmg.

(b) What are expression vectors ?
(o) What'iSvDNA microé.rray ?
' (d) How is nomenclature of restriction

‘ enzymes done ?

3. Answer any three of the following

'R

questions : 4 5x3=15

(a) Write briefly the steps involved in
. PCR. - '
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(b) D1fferent1ate between genomlc and
cDNA hbrary

(c) -Compare between Northem and
Southern blotting techniques.

(d) Give a note on colony hybndlzatlon

. (¢) What is gene therapy ? Write the
: applications of gene therapy in
~ medlclne _

4. What are festric,tion enzymes ? Give a note
on frequency and plane of cutting of
_restriction  enzymes.  Write different
.apphcatlons of restnctlon enzymes. ‘

2+4+4—10;
or |
" Discuss: Sanger's method for sequencing

DNA. - | o 10
5. Whatis biotechnology ? Give a brief noté on
the scopes’ of biotechnology. 2+8=10

‘ - or

" What are the properties of a'good vectqr ?
" Discuss the properties of plasmid, M13 and
bacteriophage. 4+6=10
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(b) D1fferent1ate between genomlc and
cDNA llbrary

| (c) 'Compare between Northem and
Southern blotting techniques.

(d) Give a note on colony hYbridizatien.-

- (e) What is gene therapy ? Write the
: applications of gene therapy in
- med1cme ,

4. What are restriction enzymes ? Give a note
on frequency and plane of cutting of
_restriction  enzymes. Write different
_apphcatlons of restnctlon enzymes '
’ 2+4+4"10 ‘
Or

" Discuss. Sanger's method for sequencing
DNA. : | ' 10

5. Whatis biotechnology ? Give a briéf noté on
the scopes of biotechnology. 2+8=10
' - or o
' What are the properties of a'good vectqr ?
~ Discuss the properties of plasmid, M13 and
bacteriophage. 4+6=10
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6. What is transgenic animal ? Write a note on .

" different transfection methods for the
" development of transgenic animals. *
o 2+8=10

o or

 What is DNA fingerprinting ? Discuss -
different methods of DNA fingerprinting. .
o ‘ 2+8=10
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4 | ' OPTION-B
Paper ZOO-HE- 5036 |
( Endocrinology )
- Full Marks : 60
' Time : ,_Three hours |
The figures in the margin indicate
| full marks for the questions. ’

C1L Choose the correct answer : 1><7=7
(a) Thyrmd hormone defic1ency in adult
causes . - :

.(i) myxedema o
j(i'i)' cret;mem
(iii) 'Graves" disease

(iv) acromegaly

(b) Whlch cells of the islets of Langerhans
. secrete glucagon ? -

(i) Alpha cells
(i) Beta cells |
(i) Cocells
(w) D cells
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'(c) | .W‘:h,ich of the Tfollé\fring hormones is a

steroid ?- _
@ ACTH : ..

(i) Glucagon
ﬁii) bxytocin
" fiy) Estradiol
(@) Mel'anocsrte—s‘timtilating hormone
(MSH) is secreted by
i) adenohipophySis ;
, (i) pars intermedia of pituitary

e (i) adrenal glé.nd'
(iv) 'thyroi‘dA gland

(e) Thyrmd hormone synthe31s involves
the 1od1nat10n of ‘

(i) ,tyrosm¢ N
(i) alanine
(i) tryptophan

(iv) methionine
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() In adrenal -gland, glucocorttcoxds are
secreted by °

() Zona glomerulosa
(ii) Zone fasciculata :
(iii) Zone reticularis

(iv) Medulla

(g9 Low level of adrenal cortex hormone
causes :

()  Goitre

.l (u) Addison’s diseaSe
(iiij Cushing eyndrbme |
.(iv) Tetany

‘2. Answer the follpWing questions :  2><4=8 :
" (a) What are different' chemical- classes
of hormories ? A

(b) Mentlon the antenor pltulta.ry
hormones.

" (¢) Distinguish between dia'betes mellims |
‘and diabetes insipidus. '
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. f.'(ﬁd)' ‘What is Leydxg cell ? Which hormone

3. Write sho'rt hofes_ vo.ﬁ : (any three)

-’

(@

(b)

(o

(d)

@

stimulates their secretion :?. . _
' 1+1=2

~ 5x3=15
Endocnne functlons of posterlor

pituitary

'Hlstologlcal structure - of thyr01d

Phys1olog1ca1 functlons of
mmeralocortlcmds h

: Hormonal control of calcmm

homeosta31s

Functlons of parathyrmd hormones

- 4. - Answer any three from the following
questions : : - 10x3=30

| (@ What are hormone receptors ? Discuss

o)

dlfferent mechamsms of hormone
actions. T 2+8=10

Describé the _histologioal structure of
adrenal gland with ‘suitable diagram.:
Give - an’ account of the endocrine

functions . of adrenal cortex and -
medulla. - ’5+5'=. 10
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{c) Describe the histology and endocrine
functions of mammalian testes with
suitable dlagrams o 5+5-10 :

) What is hypothalamo-hypophyseal
: axis ? Discuss various physiological
- functions of the antenor pituitary
hormones. . L 2+8—10 '

" (e) Give an account of the endocnne
functions of the pancreas. 10

() Discuss the molecular mechanism of
" action of protein hormone. - 10
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. OPTION-C -
Paper : ZOO-HE- 5046
~ (Parasitology)
Pull Marks : 60 . .
Tir_né : Th;ee ‘hours
The figures in the margin indicate
Jull marks for the gquestions.
1. Choose the c;)rrect answer : . 1x7=7 |
i) In malaria, the form of plasmodium

that is transmltted from mosqulto to
human is

- (a) sporozoite
(b) gametpéyte
(c) merozoite

(d) hypnozo'ite
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(u) Each’ of the ‘following parasxtes is
transmltted by mosqulto except

(@) .Lezshmama donovam

(b) 'Wueheren'a baneroﬁi' '

(c) Plasmodiam vivax o
(d). Plasmodium' falciparum

-

(i) Each of the following statements
~concerning Ascaris lumbricoides is
correct, except

(@ Ascans lumbricoides is one of the _
largest nematode

(b) - Ascaris lumbnco:des can cause
~ pneumonia o

(9. Both dogs and cats are
' intermediate hosts of Ascaris
\lumbricoides |

). Ascaris lumbricoides is
transmitted by ingestion of eggs
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~ (iv) The intermediate host of fasciola is
. (a) : ;Lymnaqa truncamlé, '
(b) Pila globosa '
'(¢) "Lamellidens -
 (d) Helix o
" (v) Which of the following is false about
. Ancylostoma duodenale ? :
(@) It is a blood-sucking worm
(b) Iron deficiency anemia occurs

‘{c) Prevented by dnnkmg filtered
- water

(d) Stool exammatmn is positive for
occult blood

(vi) Ticks and mites belongs to which of
- the following classes of Arthropoda ?
- (a) Arachmda I '
~(b) Insecta
(c)  Diplopoda -
(d) Chilopoda
(vij) Culex™sp. acts as a vector for
' 'V(‘a) loiasis
" (b) 'malaria
' () filariasis
-(d) babesiosis
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2.

(i)

i)
fiv)

- of parasites:  producing = watery

" Answer the following quéstions'; ~ 2x4=8
S

Mention four parasitic - "diseases -
transmitted by vectors. S

Writé some preventive measures to
control mosquito-borne diseases.

Define definitive host with example. .

What is diarrhoea ? Give two eXamp_les

diarrhoea.

r 3. Answer the following questlons as ’
directed : (Any three) - 5x3=15"

)

@ :

Descrlbe morphology and
pathogenlclty of Wucherena bancroﬁz.

" Give a bnef account of paras1t1c
vertebrates hlghhghtmg Mockmgblrd
and Vamplre bat.

(iii) Wnte about the hfe cycle, epldermology‘

and treatment of Ascans lumbnco:des
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. (w) Write about the morphology, life cycle _
' ,and treatment of Giardia intestinalis.

.‘ (v) Describe morphology, pathogemclty
. and laboratory diagnosis of
Fasciolopsis buski.

4. Answer the following questions : 10x3=30

{i)" ‘Describe’ rhorpholt)gy, pathogenecity
~and  laboratory diagnosis of
‘Leishmanid donovani. 4+4+2=1Q .

(i)’ Enlist blood and tissue protozoa
o - Describe morphology, pathogenecity
and laboratory diagnosis of
 Plasmodium vivax. | 24642=10

(iii) Describe the concept of arthropodan
~ parasities; _Write about' the biology, -
importance and control of arthropodan
paras1tes cmng an cxample 3+7—10

(iv) Elaborate the concept of ‘parasitoid -
and vector. Describe the mechanical -
and biological vectors W1th examples.

S5+5=10
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. (w) Write about the morphology, life cycle _
' ,and treatment of Giardia intestinalis.

" (1}), Describe morphology, pathogen1c1ty
- . and laboratory diagnosis of
Fasciolopsis buski.

4. Answer the following questions : 10x3=30

‘(i)“ ‘Describe’ thorphology, pathogenecity
and  laboratory - diagnosis of
‘Leishmanid donovani. 4+4+2=1Q .

(i)’ Enlist blood and tissue protozoa
- - Describe morphology, pathogenecity
and  laboratory  diagnosis  of
.Plas'modium vivax. 2+6+2 10 ‘_‘

(i) Descnbe the _concept of arthropoda.n
 parasities. _Write about the biology, -
importance and control of arthropodan
parasites citing an -example. - ‘ 3+7 =10

(iv) Elaborate the concept of parasitoid -
and vector. Describe the mechanical -
and biological vectors W1th examples.

' S5+5=10

3 (Sem;S /CBCS) 200 HE 2/HE 3/HE 4/G 14



. (v) What is parasmsm ? Descnbe the
host:parasite : relationship with
examples. What is the 1mportance of
studymg host-para31te relat10nsh1p

- 2+6+2 10
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